
©Copyright 10/06/2014 AR-Rev00

1131FZ - KZ1131
SPECIFIKUS MONORACK

HONDA    CTX 700N DCT     (2014)

1/5
SZERELÉSI ÚTMUTATÓ

N° MEGNEVEZÉS MÉRET KÓD MENNYISÉG

1 MONORACK KAR - 1131FZDXS
1131FZSXS 2 

2 RÖGZÍTŐELEM - GL2689 2 

3 - GL2690 2 

4 3mm GL2691 2  

5 CSAVAR M8x16 816TEF 4

6 CSAVAR M6x25 625TBEI 2

7 CSAVAR M6x40 640TBEI 2

8 CSAVAR M8x35 835TEF 4

9 CSAVAR M8x20 820TCEI 2

10 CSAVAR M8x25 825TCEI 2

11 TÁVTARTÓ Ø10x4 6mm C10L4F6T 10

12 TÁVTARTÓ Ø12x5 6,2mm C12L5F6,2T 2

13
TÁVTARTÓ

Ø14x20 8,5mm C14L20F8,5T 2

14
ANYA

M8 8DADIAFLN 4

15 CSAVAR SAPKA - Z801 4

16
EREDETI ALKATRÉSZEK

- - -

17 A PLATNIHOZ MELLÉKELT ALKATRÉSZEK - - -

RÖGZÍTŐELEM

RÖGZÍTŐELEM



©Copyright 10/06/2014 AR-Rev00

1131FZ - KZ1131
SPECIFIKUS MONORACK

HONDA    CTX 700N DCT     (2014)

2/5
SZERELÉSI ÚTMUTATÓ

5 106 7 8 9

11 12 13 14 15

4 mm - 6 mm

10 mm 

1

2

3

4



©Copyright 10/06/2014 AR-Rev00

1131FZ - KZ1131
SPECIFIKUS MONORACK

HONDA    CTX 700N DCT     (2014)

3/5
SZERELÉSI ÚTMUTATÓ

2

5

5

7 6

12

11

ELTÁVOLÍTANDÓ



©Copyright 10/06/2014 AR-Rev00

1131FZ - KZ1131
SPECIFIKUS MONORACK

HONDA    CTX 700N DCT     (2014)

4/5
SZERELÉSI ÚTMUTATÓ

8

3

14

8

4

13

4

13

2



©Copyright 10/06/2014 AR-Rev00

1131FZ - KZ1131
SPECIFIKUS MONORACK

HONDA    CTX 700N DCT     (2014)

5/5
SZERELÉSI ÚTMUTATÓ

14

1510

159

A

A

A
A

A

17

17

17

17

17

1

17




